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Question Body and Alternatives

According to Bruner, human brain having models of representation.
L (600t 68T & (B & SILILIL., LO6vT1& eLpemert rHFl&Eamers QameL gl eTeord GUILLNGSR M.
A: 5
5
B: 3
3
C: 2
2
D: 4
4

Vygotsky's ideas on social constructivism published in :
6T 6N G UN 6T &([H5 51586 eTeuallFLi60 QeueflulL LI (HeTereo ?

A1 Process of Education
HevallwiletT Q&FWeuLIMT(HIS6T

B: Education and Society
SHevellllb FUS MmN

C: Thought and Language
6TUOTEUOT (LA LD QO TLAU|LD

D : Education and Man
Hevallb e Heaild

Hull has expressed his reinforcement theory with the help of the formula.

QL L6 GaHMLLITLLY6060T QM6) G&SH T 2 Feillu|L 6T eNeTd: &6,

A: SER=f(Hand D)
SER = f (H LoMMILD D)
B: F(R)=1f(H and D)
F(R) = f (H LDMHMILD D)

C: MAx100
S

MAx100
CA

~ MAX100
CA

SER

_ MAX100
CA

SER

Find the odd one out of constructivist classroom.

M| 2 ([BaITEHS aIGLILMMEE QUTBHSTS @6Tenmd CHIHASHI&H6ID :

A: Teacher emphasizes on inquiry based learning
alleorm GHLLISME&TET &HMev AW 2_(H6euTE G H60
B: Problem solving based learning
Nygaemer §ie &TemID &MHMmev
C: Reciprocal learning environment
TR TNem6nr QUGS LILIEME L6V
D: Giving punishments to the students
LOIT6UOTEU & EMH & & & 600TL_6M60T 61 LD MG &6V
A Person Mastery in mathematics and its bearing on the learning of music is an example of :

&H60011 G55 F 6V QUGBTI 2_6T6T QRHEUT G)enFemUid HMHMIG Q&TETET &ellFH5enEL LIWaTLOHSSHIS THME
2 _GTFesorLd ?

A: Positive transfer
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GBI LTHMLD

B: Negative transfer
&I LDTHMLD

C: Zero transfer
LL&W rHmLd

D : Think transfer
G b & emeoT LDMHMLD

6 6 The child learns to avoid the sun in summer and to sit in the sun in winter :

GLHOSHET Qauuleh &TEH & QauliLgHeaner SallfERTNaT]. aerme GeflT &TeugHe &l QeuliLgH 6
@& NBHLLLRMTIEHET @66l BLLE G600 LOMTMHMESIL 6T QS TLTL LIS :

A : Physical change
@uwmLilwev LMHMLD
B: Social change
Feps LOMMMLD
C: Emotional change
LDETQ QU (LDEFF)
D : Biological change
2 uffluilwev LTHmLD
7 7 | Which one is complex concept ?
6ThS Q6TMI F1& &M QLIMSIENNE &HHSHSTGSLD ?

A Circle
eI L Db
B: House
RIC)
C: Democratic country
GWYUWTE BE
D: Red colour

FleULIL]| 6UeoT6uoTLD

8 8 ' When the 1.Q. level is 140 or above, they falls under which category ?
mletoTenoT M6 FFel 60T Blemev 140 31606V S 15 ME& GLDGL @) ([HLILINEDT, 6T61A 6™ & Bl 6uoTetoT M6 Blemev FMIHSHS! ?

A: Very superior
18l&6yLb GothLIl L

B: Superior
Gl L
C: Bright
SIBlUTiHS
D: Normal
gynai
9 9 | Creating a relationship or shared meaning between two or more pieces of information that do not belong to the same category is termed as :

Q6T QUMEHEHGTF QFTHHLVTS @ TeoT( VS AFHEGS CLMHLILL HHIMSHEHHEG @MU 2_6TeT 2_M6)| 26V6VS!
LATUULL T5556M& 2 (H6UTE G560 6T60T JenLpLiLIg :
A : Elaboration
afifleurg o
B: Rehearsal
REH NS
C: Organization
SenLoLiL]
D : Reconstruction
DM &L LemLiLy
10 10 The ability to control internal and external distracting stimuli :
2 6TUMWD LHMID QeueflliLmb gHLGILD &eleTFRHM6H STeooTL &6 &L (HLUB &SI Hmeor
A : Adaptation
H&HEUEMLOLIL|
B: Equilibration

F10 BlenmeulIL(G S H60
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C: Inhibition
14N

D: Accommodation
(3) 600T 61 (& &6V

11 11 ' Who is the father of two factor theory ?
@\ &TFevo] GSHMLLIML L6 HHEMS 6T60T j6MP&&HLILIGLIGT :

A : Thurston
SITervLeoT

B: Spearman
sulwFQedt

C: Gardner
ST L6oT

D: Alfred Binet
Syl LGeor
12112 Children prefer to be in association with others :
GBS 6T LM (IHL 6T &) 656007 [HS) ([ LILIG D8 ME0T &ITT600TLD

A Safety
LmgIs UL
B: Self acceleration
6T 2 HSIH6V
C: Selfimage

SH60T 2_(Heuld
D: Self esteem
60T LOGILILY
13 13 'When the children think parental interest and attention are shifting towards someone else in family they become :

QUMMM ellBLILILD DHMILD SaueoTid 6TUICLIMS GG IDLIGSH 60T @) 6tTReTTHaUT L35 QFMSSHLILIG ST G L5 6N S SH 6T
Blem TSR MTTHGETT HLICLIMS! S6UTEHET :

A: Fearful
LWUILUGOS mTTas6T
B: Jealous

QUITMTELILIGGE MITTE 6T
C: Angry

G&HITLLD Q& TETH MTFE6T

D: Curious
S TULILGS DTTS6T
14 14 ' In order to reach the highest development whatever be the gifted traits of an individual, mind demands :

2 F& (PETCTHMSHENS 60 L_LLI QUFDGLIMHM LIETOTL&6M6T &6oflBLT QUMHMIBHSTEVLD, LD6OTID eTH FLMTLILIS) :

A : more knowledge about hereditary of child

UTUT EMHHS 218 ey
B : adata about his hereditary by teacher

UTbUeT FMIbS, 2 AWITe 2 BeumssLlul L Grey
C: leaving child as such without providing anything

GBS AL CW e B ellBleug)
D: ensemble of conditions which provides ideal environment

QUEMT MM EHET Q& TEO0TL (& (DeM6USH Q& TeuoT(H) SITLOITET @LD6DI6V 2 (1H6UITE &S 6V

15 15 Meena, a child of 18 months of age show all signs of marasmus resulting from lack of parental love. Which of the following is not the reason behind ?
(a) Psychosocial dwarfism
(b) Non-organic failure to thrive
(c) Organic failure to thrive
(d) Biological failure to thrive
LS6OTIT 18 DTS QUWISIETET (h GLLIHM S, QUIMCMTIET 260TL| )6VEVTEMLDWITE, LOFTEVLN6 CHITUIET 3i6m6oTs S
nM@Msamerw]b QeleflliLHSSIRMSI. 6 LD& 600 L6l MHMIET 6TS! &M I600TMTHTS ?
(a) 2_6T FELNG (& 6T6MTE &H60T60L0
(b) 2_L6b 2_mil1L6veus aumpailey Ggmeved
() 2.Lev 2 milIL] &FMiHS aumpailey Cxmevedl
(d) 2_ulflwev eMyBHs aumpeiley g mevail

A: (a)and (b)
(a) & (b)
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B: (b)and (c)
(b) & (0)
C: (c)and(d)
(©) & (d)
D: (a)and(d)
(a) & (d)
16 16 | Teacher called Raja and ask to pour equal amount of water into various sized jars, ask him to pick the jar with more water is associated with :

AW euGLILenmUI6D T 6T6dTM LOMETTEUMT ML S CeumiLIL L 6UIQaILNETET LUMSHTEHH 60 Flosleme] Heniy
sarHm& QF LY 6THS LIMTSHTID SH & HenT ML SR MHERMS! 6TetTLIENS CHLRMTT. @) SHE0L 60T QG ML LML LI
HHSHS 6181 ?

A Animism
2 uNymHm QUTBHemeT 2 W [HETeTem 6T & (HSIH 6V
B: Classification
UMSLILIH S S0
C: Centration
LWLLIH G SV
D: Object permanence
QUITHETE 61l 60T 5] 607608 & 60T60ILO

17 17 | Who among the following said the primary cause of cognitive development is based on social interaction ?

B LD G5 600TL6UTHEH6T S MIB 6T aUeTIFER Feps @ emL aflemsorwimmmedeormev gHLMGSH MSI 6TeaTmeUT W ?

A Vygotsky
MEUSTL 6V G

B: Bruner
Liemearty

C: Klausmeir
&ere e Lufy
D: Jean Piaget
5607 LIWIMGe

18 18 | The teacher asked her students how they spend their fime during the holidays
and made a chart. Any of these activities can help to promote moral development 2

S.No Activity Percentage

1. Help a parent -11%

2. Damaging fo public -31%
property with fiends }

3 Go to the Library -23%

4, Maintain the - 35%
hoeme garden }

2 Eflwg wressreul serflLi el (Hiwsnm Briseaflsy CryHens sreususnauilsy
Qlasval (H&ElssTmesty sTesTé: GalLmlbal i Leusnssorliuhls Sl sormy. @\Slen
ThEISHS ClEwsLLIT({HS6T epeuid @SS auaTyFHenul susTiHa Guiguib ?
611.6T6TaT ClEwsbLm(p) F5eisID
1. QupCoT(HEE 2 a6 -11%
2.  BESTUTHEHRLET @lensmnThal Clums) } %
Qergeng CesliLhEaIH60
3. mmsusd Glosugy|ssy -23%
4. sl CariLgens
ugmiflHssn } "R
A (1), (2),0)
1), (2),0)
B: (1),(3),4)
1),(3), )
C: (1), ®
1,2,
D: (4),2.0)
*),(2),0)
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19 19 | Assertion : If a ball is taken from a 4 months child and hidden under the pillow, the child would not attempt to search for it. He could not feel that the ball is

behind the pillow.

Reason : During the first four months a child does not experience object performance.

Fa MMl :- BTETS LTSS GLoHansWlellLGH6v e LIHHenetTsHTL LG LI6T6oT T 25 6meoT 6(H & 66V 60oT Ul 60T &L
M5 S L LML GBS HSL1 LIHHemears CHL (WWMHFLILGH6ven6n. LS Semevlieneooruiler GLh o aTengi
GTETLIENS (GLOMH6M S W6V 2_600TT 65! Q& M6Te (LOLGWel606m6y.

&TeoriDd - LB S BTETE DTS BIGET 6UENT &LOH60) &8 6T QLIMIH6r160T BleneuliL|g &6TenLnem 2_600T JaUS 60606V

A : Both Assertion and Reason are true
Fa MM OMHMILD STTevorid G FesorGGL &Fifl
B: Both Assertion and Reason are false
Fo MM OMHMILD STFevorld @ TeooT(HGLO FHeumi
C: Assertion is true and Reason is false
Famm 0 G\ Fifl &TFemrd &eum
D: Assertion is false and Reason is true
Fa DM Faum &Tyevorid L G &1l
20 20 | Factor that does not affect the physical growth of a child :
GBS W6 2 L6 aleTIERemW LITHSSHTS STyeuf] :

A : Heredity
oy
B: Environment
GLBlene
C: Hormone
QT GLOmeoT
D: Learning
HMHMEV
21 21 | The playtime of imaginative play is dominated in the period of :

GBS HETILLD &L 60T 6ilenaTimL_(H& 6T (LNSETENLOWITS ) ([HEELD HMevsL L ID :

A: Infancy

Far LBealld

B: Toddler hood
&M FeoL LI[HeULD
C: Pre-school period
Lieierfl (6T LIBeuULD
D : School period
Lieiterfl LIgH6uLD
22 22 | A child's family which frequently enjoys pleasurable holidays and family excursion is mostly influenced by what ?

R0 GLHMSUNET GHILULD 319851 HheimerT all(H enmen LuMHMID GO LWL &Hmicmaneal SgilieilliLg
QUBLDLIMAILD 6TH 60T HMEH &S STV JHLMH MSI ?

A: Society
Fepss LD

B: Culture
SEUMEFMTTLD

C: Nation
[(:5%: 30

D: Peer group
SUUTT &

23 123 | Choose the correct answer.
Assertion : Contradiction and Controversies are common among peer groups and at the end they become one.
Reason : All the members of peer group obey their leader.

grflwmer efenLenw G5 HOSHESHLD :

Fa MMl : RUILIMT & (0865 EHEE6T CUIML LY, FeTenL F&FFI6|G6T 6B )W e6VLIMeTS! Lmmih wgeilev BL L LIMFTLLg
RMHMIEHLOWITHR6OTMEOTT.

SITTEOOTID : GG H6MEVAUET QIF MG E 6Tl &L H\LILIGSH 6T 6T,

A : Both Assertion and Reason are correct
Fah oI, HTeooTld G Tevor(LD Fifl
B: Both Assertion and Reason are wrong

FaD M, HTFEO0TLD @) Tevor(HILD &eum

C: Assertion is correct, Reason is wrong
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FaDml Fifl, &TyevoTd Seum
D : Assertion is wrong, Reason is correct
G SeumI, STFerid &ifl

24 24 | Contextual constructivism involves :
GLOLFTT S&&HlWCTH QSMTLIL LG :

A : Cognitive development of learner
sHuUafler  nlesFmy aueTigs
B: Selfreflective dimension
Seorement LTS L1698 @D SeoTemin
C: Significance of context in learning, impact of culture on learning
GLLOFTT HHMEN6T WHERWSSIaID, HMHMEN6) HVTEFFTTESH 6 S0
D: Information processing
S&alev UflmbmLd

25 25 | The Satellite launched by the National Institute of Educational Technology particularly to telecast the Science and Social science subjects of elementary
education is :

Qg rLssLuaTerf] umLmkisefle Grlliums sinlelwey, Fens ojmleflwey LML kisemer eefl UFLL LSS W sevellullwey
QaMAMHEBIL L BlMieuerssme geallill’ L Q&FWmHend CaITeT :

A: INSAT- 1D
INSAT - 1D
B: INSAT-1B
INSAT - 1B
C: INSAT-IA
INSAT - 1A
D: INSAT-1C
INSAT - 1C

26 26

Match the following :

Content Methodology
(a) Seed germination (i) Experiment method
(b} Impact of pollution (ii) Project method
(c) Floating/sinking (iii) Field trip

nature of objects

(d} Poultry (iv) Survey method

sihumsTens QAUT(H5S5I6 -

LT LIQILIT (5 61T SMISH 2ATVISUPOMD
(a) &xlemd (Lp60I6THHED ) ufGETHeme (LPsMM
(b) IDMTHLIBEHENEHT GITl6N6TE|SH6IT (i) QEweb L (psnm
() INBS@GLEPDGL QUTEL SN HETeni (i) SHETLILILISTILD
(d) GampliLssosnenn (iv) &6T ey

A (a)-(0), (b)-(i), ()-(iii), (d)-(iv)
(a)-(i), (b)~(ii), (0)-(ii), (d)-(iv)

B (a)-(ii), (b)-(iv), (¢)~(i), (d)-(iii)
(a)~(ii), (b)-(iv), (¢)~(i), (d)-(iii)

C: (a)-(ii), (b)-(iv), (c)-(iii), (d)-(i)
(a)-(i), (b)-(iv), (e)~(iii), (d)-(i)

D (a)-(i), (b)-(iii), (c)-(i), (d)-(iv)
(a)~(ii), (b)-(iii), (¢)-(1), (d)-(iv)

27 27 | Learning can be enriched by providing :
SHHmenev CLILMSS 2 Heaugl

A: The situations from the real world are brought into the class in which students interact with each other and the teacher facilitates.

2_6UOTEMLOWITEOT eUMLDENUWIE) @ L6VEHED 6T 6l LILINME 6T Q& Meuor 3, LomevoreuJ @ enLallenenr HmID <P Flwiy
QNG L SYIL 60T &HMEL
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B: More and more teaching aids are used in the class.
&MHLNG 56N 6T CLIMSI F&DTET HHMEL — HMLISH60 &([He & em6rT LIWeTL® &51560
C: Teacher provide different types of lectures.
2R AW LLGaMI el s WwmeT eNlifl6)em &6 6ULDMKIE S 60
D: Due attention is paid to conduct periodic test in the class.
a6 GMILILIL L @enLQeueflu]L 6T CHI6|&Hen6T HL&SI6UH 60 &Hal6a D 6\F avlg SIS 600
28 28 | In teaching - learning process initialization of maximum number of senses come under :

&HM6 - HHLINGH6 Blealley HBGHLLF LIevemiLiL|&eneT LT LIS S g LeTalLd 6TH&H8 8T yeor WL 60T
QSHTLIL LW ?

A : Teacher related factors
AFANWT QFTLTL LW SHTFevot]
B: Learner related factors
IDMesoTel T QGITLTL|60L_LLI &ITT600(]
C: Process related factors
QF WM QSTLITLIEOL LI &TFeuofl
D: Content related factors
UTLUQUT@HET QSTLFL60 LW &ITTeoof]

29 129 Cognitive learning was emphasized by :

2B e HHmeney PeTALMSIHSeu :

A: Jean Piaget
oSeor LNwWImGey
B: Pavlov
LImeuGeurmey
C: B.F. Skinner
B.F.6h0 @\ eoreur [y
D: Rousseau

emGeruim

30 30 Before introducing any concept the teacher should the students to kindle their mind and to bring out variety of ideas.

R HHEHMS M SLILBGSSI6USMHE (LLEOTL] LD TetoTel 78 6rfl 60T b5 6060160 LIS SM6toTlq. LIGVECEUMILIL L & (& S8 5 60)6T
Qeuefld Q& mesoT(® UIBHLD ENM
A: give assignment to
RLILIOL 6 &H6T Q&TH &S60
B: drill and practice
L& yerflgsev
C: brain storming
ELOEDET HMEES (MM

D : monitor

85600785 160011 5 & 60
33t 260606515 efemeTwimL g6 65T Qeumnf QU smemeruier Hidlemeult LG GSLILG gL CeusstTiq Ul SMTLD LOMMILD STeULD :
A:
15 ST /30 ef6orITIq & 6T
B:
15 W17 /20 efleoTITLg. 86T
C:
18 8L 7 / 15 el euTITIq & 6iT
D:
18 LSLLIT /30 ef6orITIq & 6T
32 32

@ BB I QIETINGET R2MHel LIGWHBI-SMHE& WHLILIMI (LPem6sTal[ LIL L LD eULpBISIUL LIS 608 &SI :

A:

CB [ L6V MEVEHSHLNSHLD
B:

Q&HTOLLIWT LSS HLPSD
C:

QBHETHTHS) LILSHMEE S PG
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2| 600T600T ITLO6DI VL LIGV&HEMEVE &N &L

33 Uphs AL @SR WRIG6TL LIMSIS NSS! 66ULILIE6 :

A:
&5V (B &6
B:
Q&FLICUMm S6T
C:
LI63Y60T GULITEm 6V & 6T
D:
LD 60T LI [T6D0T L &5 61T

¥ 3 haser &M@ eteorTll GUITHMLILIGILIT :

A:
LG &CHTLL &60WITEOTS BT LD.
B:
& (.61.5.
C:
Ty Wy
D:

BITLO&:&60 Q6. @) [T ITLO6ON MBI 6OTITIT

35 (35 . . .
2 aIen &HellEy Wiy ?

A
BILD&SHE Q6. @) 7T BIGSETTH
B:
urgSwWmy
C:
LTy & & IT& 6ot
D:
FOST

3636 @BEH WL QL@BMHISL606) 2 (HeuM@GLD L|We&HEHEE QLW 6n6Ud @GLD e L (LM G ML KIS W 2,60 :

A
1980

1990

1999

2000

373 RHUGHHS APNG CFFHGL WEHF FMbHS 21600118 6060T 6TedTmI H([HEUETEBET FnMICUSI

A:
QUTMIEMLD, L|&LD
B:
Lietoflay, &evail
C:
@\ GTQF M6V, FeM &
D:
Licuofley, @ 6TQ & mev
® N esamsoss astessus
A:
BLOLwimesorLmy B
B:

GHSIT
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GVCFHT DAY

GF&ERMY

SO G 1LD & 556007 LU M MIGT HTL6ML & (forest) GMI&EGLD QFTEL SVVTHSI 6T ?

A:
oiLad
B:
6U6DTLD
C:
werfl
D:
6U6ITLD
40 a0 @MMeTaLmLUilley 6mA LIRS ELD QUG (DS G185 6rTl60T 6Tet0T600r 86015 :
A:
18
B:
10
C:
11
D:
6
AL A (PO ey &HTVEH SLAPHSH 6V 6TRSLILIL L 6T(LD G SIS 6T 'G5 6007 Gl 600T (LD & B1 & 61T 6T60TMI 246N &G LILIL_L60T. )& 60607
2 MIFULGSSID FTeTM emDWL] QUMD GeV&HSHIWILD :
A:
HGSGDET
B:
FILG &HTTLD
C:
S5LDLITITLOIT U 600T LD
D:
B (BUTF&LD
2|2 SH6UMITET &) 6M600T6M LIS &ITEO0TE :
(i) BUETLD -~ NSS!
(il) USB® - L HSRLT
(i) Gourfl — Gz edr
(iv) GLOS) — LoTedT
A:
(i) LD
B:
(iii) LLL_(BILD
C:
(i) LDODYLD (iv)
D:
(if) LOMHMILD (iii)
I GG TEILD DJHIGET6 DTSS! LIMGMHISGEHLD LILET SIel606uS) :
A:
aUmemLD
B:
SHT&
C:
21,60
D:
Lieum
44 44
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45 45
46 (46
47 47
48 (48
49 49

SILLIT! 6T60T SMhlemas LIfle: QUIMDHMITET :

A:

2 QIS
B:

SIEFFID
C:

EITh
D:

ey
@)6VEHR eTTLIS -
A

&\ euor )l
B:

By eerhHay
C:

g1
D:

BrisCsseIh

@euhmieT Feubud Heneuuiley LWeTUBRSSLILLTS QbW SLD 6TS! ?

A:

LOMETQSTIDL]
B:

N&geum 55
C:

auerrfl
D:

aflev &1bL|

SHMTOVDETHS QUWRTFFLD :

A

QUWEIFLFID
B:

et 0TS0 BT &
C:

allemerQuIFFLD
D:

allemesTpm M

LIGDE00T 6T6OTEILD Q& MeL6SI 68T QILIM(BET :

A
LOTLD
B:
LIS 6L
C:
353
D:
Sy

FfleOsW0 UTLLULLL LTINS 615 ?

A

GleuevorLIT
B:

@Alwdium
C:

QIEA LM

GET IT ON

Google Play
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D:
sedllium
00 '&600T GL_ITITIT' — 6T60T LI G 60T QUUIMIH6T QUIMTIBHSHTSE Q& M6V :
A:
W& 2ipfleflsse
B:
AEHIBAETTY
C:
T IG5 60
D:
TP SIHEV
31 31 B5 HiT6L& EBET 6263T M6 [560T G 60Tl LM&&eTme) LML L&,
A
Q6u6TOTLIIT
B:
@Aflwcium
C:
aEFLILIM
D:
Seolum
2|32 FMsmeller @umEUWI :
A:
LIT6v &) (IH 619, 600T 60T
B:
D& TGS 61 60T
C:
[BIT [T IT UL 600 607
D:
17 11 &5 [T T &2 60T
P @p®r ese sflaS i aeeib preder uE g -
A:
SICWTHHHTEF
B:
85 600T 600T S5 IT&F 60T
C:
Q) T6v0T| & IT&F 60T
D:
L SlemLn LI 8860t
54 |54

"HESTEn LD 6L LIMMS & M6t BTedT CLIF (LG LD Sememwll LiMfluisuen”
- ererm eufleows HI0WESS SHS6uT

A:
Leflwys
B:
euysmd
C:
[BIT& [] £3© 60T 60T
D:
LN ybLoTTegesT

3 2|6la|HAILD' 6TedTm QFTeLen6eL! LNfl&&:E RemLLiLig

A:
2|6l + Q(HeUld
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3HG + 2 (Heuld

9| + 2 (Heuld

216l + 2_(HeULD

56 |56 . . . e .. .
UMTH&E (WL 6TLemL WL TSSH 60 UMDHS Li6ueuT :

A:
SNTTEFL LI6ooTI &
B:
S|(BeTOTTEFEFE S Tmwy
C:
LeWUL L 6L & QFTHHBMSHLI LjeuelF
D:

&H4eN& WESIL Lieveul)

5757 "I TWING! BS) 6UPBIS LD60T60TGeuT!" 6TEITMI & 600T600TE) Gn NI WITEMIT ?

A:
G&FIJ LDEDT60T60) 60T
B:
LIIT6TOT LG LI LD 63T 60T 60 60T
C:
G&FITLD LOGITEOT6M 60T
D:
LI6U6V6 LD 6OTEOT6D) 60T
S erflwimey &L LILIg eI 2 16 600rLITLD @ WIWITF NGBS MG aury.
A:
Quflwrmy
B:
Aflwmy
C:
Sueuy
D:
aumlwimy
% ® R QFTVT (NHQVWESI SE W 616060 6T 615 B! 66 F & EB6T RETMTE GBS GLD.
A:
EUGTF
B:
F&HGU
C:
&5 55U
D:
SUSTF
60 oo G ILIEHEFELNEVLD 6T6dTM HTEO6L 2 _6TET 626UGEUM(H LITL 8L & (55 S5 6068 G\ TEO0TL .
A
et
B:
250!
C:
BHS!
D:
BIeTS
61 61 What kind of conjunction is used here ?
The child was not covered, although it was very cold.
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A': coordinating conjunction

B: subordinate conjunction of time

C: correlative conjunction

D: subordinate conjunction of concession

62 62
Which part of the following sentence contains an eror 2

Teddy cannot stop wagging his tail / and followed her / until she pet him/
(@) (b) (c)
from childhood

(d)
A (@)
B: (b)
C: (©
D: (d)

63 63 What is meant by 'A limerick ?'

A : asilly poem with seven lines

B: asilly poem with nine lines

C: asilly poem with six lines

D: asilly poem with five lines

64 64 | Choose the correct synonym for the word 'depict'.

A warp
B: portray
C: twist
D: falsify
65 65 | Choose correct Rhyme scheme of the given lines.
The horse and the Tiger
The Ape and Goat

Decided one morning
To hire a boat

A: abca
B: abba
C: abbb
D: abcb

66 66 | The phrase 'tottered over' means :

A moved unsteadily

B : lost balance
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C: stopped from moving

D: jumped

67 67 | "Speak gently to the child
Its love be sure to gain
Teach it accents soft and mild
It may not long remain"
What is the rhyme scheme of the above given stanza ?

A abab
B: abba
C: abcb
D: aabb

68 68 | "Satyameva Jayate" means

A : Hardwork wins

B: Honesty is the best Policy

C: Truth alone Triumphs

D : No pain No gain

69 69 | Pictionary helps children to know :

A Meaning with picture

B: Matching meaning with picture

C: Antonym of the picture

D : Abbreviation of the picture

70 70 | Ajay Kumar Garg received a National Award of accomplishment from the Indian President Dr. A.P.J. Abdul Kalam for his outstanding skill in :

A: Traditional Miniature Indian Painting

B: Vocal Music

C: Instrumentalist

D: Kathakali

71 71 Which of the following sentences is in the correct order to make a meaningful sentence ?

A1 We/always/speak/English/during/English/Classes

B: We/Speak/English/always/during/English/Classes

C: English/Classes/during/always/we/English/Speak

D: English/Classes/always/during/we/English/Speak

72|72 In the poem, 'A thing of beauty' by John Keats, the line, "Will keep a bower quiet, for us" means :

A Will give us peace and calm

GET IT ON

Google Play
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B: Will stop unpleasant sound

C: Make our beds fit to sleep

D: Reduces noise

73 73 Which one cannot give light ?

A: Sun
B: Moon
C: Candle
D: Mirror

74 74 Find the correct Acronyms of the word UDISE :

A : Unified District Information System for Education

B: Unified Distance Informative System for Education

C: United Distance Informative System of Education

D : United District Information System for Education

75 75 Pick out the apt collective noun phrase from the following :

A : flock of cattle

B: pack of cattle

C: herd of cattle

D: swarm of cattle

76 76 1 go around the world. I stay in a corner. I am found on envelopes.

A: Soap
B: Ship
C: Stamp
D: Stop

77 77 | An area which kindles the ability of children's divergent and convergent thinking :

A: Charts

B: Brainy box

C: Word wall

D: Mind map

78 78 | Choose the correct form of the laughter word.
When I tickle the boy he always makes a loud

A: beam
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B: guffaw
C: laugh
D: giggle

79 79 Which is the primary source for all the students to develop reading skill ?

A e-book
B: Note book
C: Textbook
D: Story book

30 80 | Teacher asks a student to refer a parallel word to the given word. Which book should the student refer now ?
A : Dictionary
B: Thesaurus
C: Encyclopedia

D: Pictionary

81 81 | Find the neuter gender from the following :

A: man
B: student
C: river
D: doctor

82 82 Kumar had had lunch before Ravi had.
The Literal meaning of the sentence is :

A : Ravi had lunch before Kumar.

B: Kumar had lunch before Ravi.

C: Both of them had lunch at the same time.

D : Both of them hadn't had lunch yet.

83 83 Supply the common Euphemism for the phrase 'Slow learners'.

A : Average students

B: Below average students

C: Late bloomers

D: Slow bloomers

34 84 I will have reached the place by 6 P.M.
What is the tense employed in the sentence ?

A: Present Tense
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B: Future Perfect Tense

C: Future Tense

D: Past Tense

85 85 | Write the meaning for the Idiom "On Cloud nine".

A: Very sad

B: Unpleasant

C: Blissfully happy

D: Completely perfect

86 186 Pick out the correct option from the list. They all the arrangements before the chief guest is arrived.

A : will be made

B: will have made

C: had been making

D: will made

87 87 | 'His words are pearls of wisdom' Pick out the figure of speech from the line.

A Metaphor
B: Simile
C: Anaphora

D : Personification

38 88 | Add a suitable suffix for the word 'Paint'.

A -ar
B: -or
C: -yer
D: -er

89 89 Name the insect that slide.

A: Ant

B: Catterpillar

C: Snail

D: Beetle

90 90 | pick out the correct pattern of the given sentence.
I called the girl Mala.

A: SVOA
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B: SVOC
C: SVAA
D: SvC
91 91 | If the area and perimeter of a square are numerically equal, find the numerical value of its side length.
FHITSH 60T LTLIL LDMHMILD & MMmered 6T 6Te0oTetoTene) LG LIL| 86T FLOLD 6T601160, 25 60T LIS 85 60T 6T600T600TeT6) LS I6mLIGS
&T600TS.
A: 16
16
B: 8
8
C: 4
4
D: 1

1

92 92 90 millions is equal to :
90 L0 6L60) LLIGOTE 6T 6TEOT LIS :

A 90 crores

90 G&HITIY &6
B: 9crores

9 G&HITIY. & 6T
C: 90 lakhs

90 @) 6VL_&F MBI 6T
D: 9lakhs

9 @ 6VL_FhIGH6T

93 93

The sides of a trapezoid measures 4.3 m, 18 cm, 32 cm and 1.4 m. Find its perimeter.
@ FfleusH ST 60T LI 216M6al&6T 4.3 LS, 18 Q&FLS, 32 Q&FLS LMD 1.4 LS. 660160 21 60T & MMETE)| & ITetoTss.

A: 657cm
65.7 Q&S
B: 107 cm
107 Q&L
C: 557cm
557 Q&FLS
D: 60m
60 L

94 94 | Find the arca of an equilateral triangle whose perimeter is 180 m.
180 LS & HM6T6 Q& MetoTL. 62(H &FLD LIS (&GS MTe0oTSH 60T LITLILISTem6US & IT6U0T8.

At 17328 m?
1732.8 L5?
B: 1558.8 m?
1558.8 L§?
C: 1585m?
1585 uS?
D: 1320 m?
1320 1S?

95 95 | A natural number greater than 1, having only two factors namely 1 and the number itself is called a
1 afll g.q@aamrrm @ @)UV 6T600T6u0T MeoT&! 1 DM MILD GG eTevoTem6nor 0L (HIGLD asrruco'aﬂa;mrra;u QuMOMIBLIL 6T 25

A : Prime number
LIGIT 6T600T
B: Composite number

LI(& 6Tev0T
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C: Twin primes
@60 LIGIT 6T6v0T
D: Co - Primes
FMTUSIT 6T6o0T

96 96 | A room of 68 m long and 45 m wide is to be colour washed, at the rate of Rs 80 per sq.m find the cost of painting.
68 L BeroLh 45 LS 21&H6V(PLD QG TETITL 1 {eMMEMILI 6UTEIOTLD Lh& &. L35 eb. 80 6f50 QLG Q&FeVemneal &Teuors:.

A Rs. 244800
€15 244800
B: Rs. 252700
e1p. 252700
C: Rs. 241300
erp. 241300
D: Rs. 240150
emp. 240150
o7 In the following figure find the area of shaded part where E is the mid point of
BC.
D e
24cm . E

A 6cm é6cm bcm B

uLgHlsv Blwebll L uiggluilsst urliueme SesoT(HILlgSH&EaLD
@raig BCulilstt emiowily siter] E.
D C

AbGFl 4Cs.f 4G5 B

A 196 cm?
196 Q&FLS52
B: 288 cm?
288 Q&LS?
C: 276 cm?
276 Q& US?
D: 688 cm?
688 Q&FLS2

98 98 | Find the remainder when 73 x 75 x 78 x 57 x 197 is divided by 34 ?
73 x75x 78 x 57 x 197 £3 34 94,6V QUG HGDCLTS H ML HGLD LG &Meoorss.

A: 22
22
B: 30
30
C: 15
15
D: 4
4

9 99 | Add:0.12+0.012 +0.0012 + 0.00012.
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Fal ()& : 0.12 +0.012 + 0.0012 + 0.00012

A: 0.00132
0.00132
B: 0.13332
0.13332
C: 0.00032
0.00032
D: 0.01332
0.01332
100 100
If ADLOBin Jrhé—:- following figure, then ZAOB + ZCOD =2
60° .
A ] D

WMstTeu(mid LLSHlsv, ADLOB sresflsn, ZAOB + LCOD =7

B
<
602,
A [e] D
At 1200
120°
B: 1300
130°
C: 9p0
90°
D: 300
300

101 /101 3
If = =243 thenx=12
33

3)(
. =243 erevflev x = ?

a
W oW o o NN

102 1102/ A, B, C and D are friends. They are playing with two ropes. A and C take one rope and B and D take another. A and C rope crossed with B and D rope. The
angle between A and B is acute angle. What is the angle between B and C ?

A, B, C L0MHMILD D [H60OT LIT&HETTS 2_6Temer . SiaUT&6T @) Teuor(® & Ul miLedr ellemeTulmiqgs 6 & mesoriq (h&h SR eTmeor. A LDMHMILD
C @ &WIM T &HS18 Q&MeuorLer). B nMmmild D @ &ulmi 61(h\S518 Q&TetorTL6ory. A LnMHMILD C, B LoMmith D
RETMIHQHTETN GSMISHHTSH eMLHSICTETSI 6T6vfl60 AB (& MIMIGSH TEIOTLD 2,&GLDGUIMSI BC G& 60T S 60 & & IT600TS :

A : Right angle
Q&FMmIGSHMeToTLD
B: Acute angle
(&IMBIG S T60oT LD
C: Obtuse angle
aNiflGamevorLd
D: Straight angle
GBIy G&MevoTLD
103103/ i 4 the value of the pattern (13 +23+33 4.+ 153 - (124224324 . +15D)-(1+2+3 +...+15)
(B+23433 4 4153 - (124224324 .+ 152) - (1+2+3 + ... + 15) 6T60T D) 6T600T eLOLILN6OT LOGBILIL] :
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104

105

106

A 14400
14400
B: 14040
14040
C: 14140
14140
D: 14100
14100

104 Two angles are in the ratio 5 : 4. If they are lincar pair. Find them.
@ eooT(® CasMetorT G 66T TS0 5 : 4. HCH CHMETMRIGET CHTCHTL(H MW CHTEITSHMS 3 MHMS! 6T60fl60
6uail([H G TeOoTMHIGHEMETILILD G5T600TSs.

A 80,100
80, 100
B: 100,80
100, 80
C: 50,40
50, 40
D: 40,50
40, 50

105 The number of all possible ways of forming three digit Prime Numbers by using the digits 4, 5 and 7 once is

4,5 IDMHMID 7 B B)6V8:EMIGHEET (B (6MM L HID LIWeTUGSS) SemLnuLd eLneorm @sua;s; LIGIT 61600785 61Tl 60T
Grcwrevbﬂ&,mas

A:l

(@]
[ R U V)

106
Comesponding a numerical expression of the tree diagram :

6T6HTID LOTS (T sUeHTULSHI6HT eTator Commeneu e1g) 2

{[3—(8x6)]+[5—f3+7}]} +[4%(3+2]

GET IT ON

Google Play
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[3—[8x6]]+[5—[3+7}]} +[4x%(3+2)]

B: MieBx6)—3]+[B+7-5]
5

[4xB+2)]

[4%(3+2]

C

[Bxé&—-3]+[5-B+7]} +[4xB+2)]

GET IT ON

Google Play

{
A }
B> 8 —3]=[13+7)-5]}
T }
{ }

[Bx8—-3]+[5-RB+7)]} +[4xB+2)]
Di f[3-@exa]+[l3+7-5]} [4x(3+2)]

{B-Bx8]+[3+7)-5]} =[4x[B+2)]

107 1107 Find the value of 1 + 3 +5+ 7+ ...+ 23.

1+3+45+7+ +23 &5 HLILIH&.
A: 100
100
B: 144
144
C: 81
81
D: 121
121

108 108 What is the difference between 9 and 111" term of Fibonacci sequence ?

9 augl LMHMILD 11 ugl LICLMETTE 6TevoTH @B ER 6L G 61 SHITFLD &Tevoras :

A 144
144
B: &9
89
C: 55
55
D: 79
79

109 109 Which Fibonacci number is multiple of 10 of the Fibonacci sequence 1, 1,2,3,5...?
1,1,2,3,5 ... eteorm LALIGeT T Q&TL cuiflen&uflev 6185 em6urimeugl LNLICET TS 6Tevor 10 —60T LOLMBIS TS @) (H&ELD ?

A: 12
12
B: 8
8
C: 15
15
D: 16
16

110 /110 How many symmetric lines are in a square ?
FHTSEH DS 61&HHMT FLOFET CaHM(H 56T 2_6Tere ?

A

o]
(O NV R SO N VO ot}

111 111 The weight of 72 books is 8 kg. What is the weight of 126 books ?
72 U5 &5 M6 60 6TemL 8 &).G) 6T6vf160, (G 21616 6T 126 LI585 61860 60T 6T60) L 6T60T60T 2

A: l4kg
14 6.6
B: 15kg
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15 6.6
C: 16kg

16 6.6
D: 12kg

26.5

112 112/ A Focus light uses 5 units of electricity in half an hour. How many units does it consume in 3 hours ?
(B W6T ellend: @ 3i6mT 6ol CHISH ) 5 VG &H6T WTFTISH S LWeTLUOSSIRMSI. eLoeiTml W6oot] CHIHSH6v
6TH G060 2160 & 6T LTFTISHNS & LIWeTLUGSSILD ?

A': 50 units

50 V& SH6T
B: 40 units

40 3|6V & &H6T
C: 60 units

60 3|6V&&H6T
D: 30 units

30 VG SH6T

113 113
The area of the shaded region in the adjacent figure is

o

uLgHlsv BlpebliLiul e ugdluiisr ugliusmey wrg ?

1y
k4

7 Qe

7cm

A: 1545q.cm
154 &.0&.18

B: 77sq.cm
77 &.0& .15
C: 144sq.cm
144 5.0&.18
D: 164sq.cm
164 5.0&.15

114 ji14 The length of sides of a triangular field are 15 m, 2800 cm, 41 m, then the cost of levelling the field at the rate of Rs. 19 per m?is :

62 (B (&CHTE00T aUlg6l aUULIEN 6T LIGE Hermigser 15 1S, 2800 Q&F.18, 41 LS. GLogyild auwiemevd FLILINSGS @0 FSIT WL L ([5G
em. 19 QFeaUMGLD 6T6rfl6L aUWemeVEd FLLILINGS SLEGLD QF6e6)] ?

A Rs.2520
ep. 2520
B: Rs.2394
. 2394
C: Rs.24%4
erp. 2494
D: Rs.2420
erp. 2420

115 115 The side of a metallic cube is 12 cm. It is melted and formed into a cuboid whose length and breadth are 18 cm and 16 cm respectively. The height of the
cuboid in metre is :
2 GoUTHSGHT6 60T R(Ih HEOTF FSHITSH G LIsS 6Ta) 12 Q&F.15 915 6meT 2 (H&H 18 Q&.1S Harld nhmild 16 Q&F 1S Sj&evld
2 _6T6T QR HEUTEF QF6UAIGHID 2 (HEUTEHEELILGRMS!. 2bHS H6TE QF616185GH T 2 WFLh LS Lfl6) &Teuors :

A 6 metre
6 LSLLIT
B: 0.6 metre
0.6 LSy
C: 0.06 metre
0.06 LSL_L_[7

D: 60 metre
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60 LSL_L[J

116 /116 The price of a rain coat was slashed from Rs. 1060 to Rs. 901 by a shopkeeper in the rainy season to boost the sales, find the rate of discount given by him.
LSS TSR 6T CUTS el DLW D& EHE HMLESTTT @Beal] (@ g FLenLuller aflensuemi 61060
OGBSI eb 901 QL& GOMSSTT 6T60f 160 6T CUPRBIR W HeTEBLIY F&aTHE5mMG &MU :

A 15%
15%
B: 51%
51%
C: 16%
16%
D: 21%
21%
1171117 A circular metallic plate of radius 10 cm and thickness 5 mm is melted and molded into a pie (a sector of circle with thickness) of radius 15 cm and

thickness 20 mm angle of the new sector is :
10 Q&.15 @D LHmID 5 19,15 H19.1065T Q&ML 62(H QUL L 6ulg6l 2 GeuTd L IG606T 2 (HHH 15 QF .15 4T WHMILD 20
1AL.18 H1q060T 2 ML ([ QUL & ITeooT LIGHemUl 2 [HelT&HR6TTeL 3j6iall L G meuor LIS Ul 6T G5 Meuor 2466 :

A o400
40°
B: 450
45°
C: 500
50°
D: 550
55°

118 /118 A bar graph can be drawn using :
62(H LIL6mL eUemTLILLOM60Tg LI 606 (56 60TeU M MIGT 678606078 685 T600T L9 (H & GLD ?

A : Horizontal bars only

L L L L UL emL&6T LG 2 LWl

B: Vertical bars only
QFRIGSSIL UL ML &6T L (HILD 2 emL WGl
C: Both Horizontal bars and Vertical Bars
FeL 0L L L0HMILD QF HIGSHSIL LIL DL 6T 6Tsaild @) FeooTenL LD 2 enL WSl
D : Either Horizontal bars (or) Vertical bars
FHemLLOL L V60 QFBIGHSILI LI DL 6T Q6Tenm 2 6L WS
119 119 If an angle A is complementary to angle B and supplementary to angle C then :
(5 G ITEUOTD A, B 6T6dTM G5 Metors S 60T BIFLIL| GG MemTLOM&H6LD C 6Tedrm C&MetoT& S 607 L6 BITLIL] G5 ITEuor 0TS 61D
Q@I
A Cis 180° more than A
CeTedTLIg A 3 el 180°2i &\ & 1D
B: Cis 90° more than A
CetatTLIG A &3 6l 90°21H &1D
C: Cis90° more than B
C 6T60TLIGI B 83 el 90° &\ &10
D: Cis 180° more than B
C eTedTLIS B 83 el 180°91H\ 851D

120 1120 The mean of a set of seven numbers is 81 if one of the numbers is discarded, the mean of the remaining numbers is 78 then the value of discarded number
is :
g eTevorgs a6t rmE 81, U6V @ 6T600T B SLILIGID CUIMS! DM M eTevorgserfledr FIME] 78 958 MG M 6160160
B&BSLILILL eTevorevoll6oT DG LIL] :

A: 101
101
B: 99
99
C: 100
100
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98
121 121 Brasilia Declaration was signed by India in .
ey elwm UysLearsHev @nbHwm 21,600T(H) MHAUIDSHL LS.
A 2000
2000
B: 2021
2021
C: 2015
2015
D: 2020
2020

122 1122 Choose the correct answer.
is an agricultural modern technique and mechanization system that aims to maximize yields.

giflwmer allen_enwl CHIHASH&HLD :
st iU eleusmuSH 60 HeSer W &S &6T MHmID @) WBHSFHIGET eLP6VLD 2 MHLIGH e B &LILIOISSI6USI

A : Subsitence farming

5601601 6MM6)| GEM6ITITEUOT6M LD
B: Shifting farming

@LLD QUWIFT6] GeuerTesoTemL
C: Intensive farming

Gaily GeuaTmeuoTen Lo
D: Dry farming

6UM600T L GEUEIT TET0TEmLO

123 1123 Find out the correct statement :
(a) Madras Native Association was founded in 1852.
(b) V.S. Srinivasanar was the extremist.
(c) The Madras Mahajana Sabha demanded conduct of civil service examination only in India.
(d) Tamil Nadu nationalist periodical Swadesamitran was started in 1891.

Frflwmeramenm CHIHOSH &L :
(a) QFOTEM 60T QUITH G 6T FhIGHD 1852 — 6V Bl MIGULILIL LS.

(b) V.S. Eevfleurgermy e ey CH& WeumGHuwimeury.
(¢) Gl9.6mIDLILIEo0N & CHTa ST @HH WTeNev L HIGLD HLSSLILIL Ceueuor(HG 6T G&F 6TemeoT DG MTE6T Femll G&MIflwig.
(d) HLALBITL 960 Qeuefloub s &CHF LG TeT 1891 60 QL TIDLNGSLILL L SI.

A: (a)and (b) are correct
(2) LOODILD (b) Ffl
B: (c)is correct
(¢) LD &ifl
C: (a)and (d) are correct
(2) LDODILD (d) Ffl
D: (a)and (c) are correct
(2) LDODILD (c) F1f
1241124 Find out which is correctly matched :
@eummier ezl FlWms QUITBSSLILIL (HeTers ?

A: Porunthal - spindles and Whorls
QUMTBHSH — &lp6) S FF&HSHET, & ([HETHET
B: Paiyampalli - Black and Redware
eI LI6Ter] - S@LIL LMHMID FleuliL] oL LIM6ooTL MmbI& 6T
C: Kodumanal - Carnelian beads
Q& M({H) DETOTEV — G\ & LD LD 60T &5 61T
D: Sivagangai - Dolmens
FloUBHBID S — HMHBL_60)L_56T
125 12

193

Assertion (A) : Alberuni learnt Sanskrit and studied the philosophy of India.
Reason (R) : Alberuni as a scholar travelled all over India trying to understand India and her people.

Fa MMl : 3J6V-LIemHent] FLeVR S QMLNlenW & HHM Q&Mevor®H), QHH W &5 SI6UMHIGH6TWD SHMITY.

SITTEOOTLD : @@ HHMMBS M EHTTeT @6 @HHWIT (PWEISILD LW 6mrd GLME & Teur(h E)HS) UWLITen 6| LD 218 60T
D& &emeTWLD L& Q& MeTaT (LPUWIeTmT.

A : (R) is the correct explanation of (A)

SITIE0OTLD G MG 8MeoT Fiflwiment elemgs&sGLn.

B: (R)is not the correct explanation of (A)
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SITIEOTLD SoHMI& 8 MeoT FiflwimenT elleng: &1 G)6Vemev.
C: (A)is wrong and (R) is correct
Fahol Seuml, Syerid &ifl.
D: (A)and (R) are wrong
FaMDOI, HTFEOTLD @) F6voT(HGLD Heum.
126 1126 Arrange the following in chronological order :
(a) L.M. Singhvi committee
(b) Balwant Rai Mehta committee

(c) G.V.K. Rao committee
(d) Ashok Mehta committee

BLEHHTLeunemm Hmev alflengFuly euflenFlLB &SI :
(a) 6T6L.6TLD. FBEION & W

(b) LVEUBST T CLSST G

(c) 28).aM.G&. T m6d G (D

(d) B&FTE CLGHST G

Az (b).(d), (), (a)
(b), (d), (0), (@)
B: (b), (a), (d), (c)
(b), (@), (), ()
C: (0), (b), (a), (@)
(©), (b), (2. (d)
D: (a), (b), (c). (d)
(@), (b), (). (d)
1271127 Name the common High Court for the States-Assam, Nagaland, Mizoram and Arunachal Pradesh.
S|6VEVITLD, BT&HETHES, WECFTFLD, 2 (HevorTEFFeuLll LNFCHEh CLIMETM LOMBlEVEISEHEH G QLTS B N6TmLD 615 ?

A Kohima
Cammaninm
B: Ittanagar
@LLIBST
C: Aiswal
£26MV6UT6L
D : Guwabhati
HeUYSHTHH)

128 128 ‘Which one among the following is an artificial harbour ?
@eumNleL 6181 QFWIMEMEWITE 2 ([HeUM&:aLILIL L SenmLOsLD ?

A : Ennore
6T600TSTOIT I
B: Tuticorin
SN5816G19
C: Chennai
Q& etTemenT

D : Nagapattinam
BI&HLILILLQ.60TLD

129 1129 'Jana Gana Mana' national song was accepted by the constituent Assembly on :
2607 & 60T LO6UT" GHF I LITL 6V S THWLIGVEnLDLILITEY M MIG Q& TETemLILIL L [BIT6T :

A 15 August 1947
15 9L,&H6MVL 1947
B: 24 January 1950
24 sgeoreurf] 1950
C: 26 January 1950
26 sgeoreuf] 1950
D: 31 December 1930

31 19 &FLDUF 1930

130 130 How many women members were there in the Constituent Assembly on 1946 ?
1946 Qu1D 21,600T(H) 2_((HEUTSHSLILL L @HH W 2 TFWevemnioLliL] BlJeuor nermsSHev @)L ELMHNBHS G Liewor
2 MILILNGTTSET 6T& G et a0 GLITT ?

A: 12
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131 131 Which drug kills the stages of malaria parasite ?
6THG LOMGH emTa6rletT LIwWedTLIM(H G IWIT 621 (h600T600 1 &H60)6T Q&ML R MSI ?

A : Nilavembu kudineer
BleGaulbL G4BT
B: Quinine
&WlemeoTedT
C: Paracitamol
UTgT&LLLDTeY
D: Azadirachtin
SIFMIQTEIG60T
132 1132/ According to Bentham and Hooker classification, how many series are present in the sub class of poly petalac ?
QUBSLD MHMLD Q&S K6 eUenSHUTL1g60TLIG. LITeNQUL L Gev Sleneuor eu@GLILN6 675 & ement euiflen & &6t 2_6iTemeor ?

A: 4
4
B: 2
2
C: 3
3
D: 1

133 13

@

Structure of TMV virus :

TMV 6m6UTenv SlemLoLiL] :

A Complex
&1 55 60TeTS!
B: Spherical

@& eI aUlg 6L
C: Cylindrical (Helical)
2 _(HEMET eUlg.aILD
D: Bricks
Q&FMIGH6 eIl 6llD
134 1134 Using the following hints of bone, Identify what type of joint.
"One part of joint is concave at one end and other end is convex :"
QHMH&S&LILIL (H6TeT erew DL g 6rfledr & LILIG 66T Gl Meoor(h) 676l 616585 UITeuT eLNL_(H) 6T60T &5600TL N85
"eLN L 19.60T (1B (PeMeT GBI, Lo MInen 6T @6l SID &mevoriLHiIh".

A Pivot
FLPVEE eLpl ()
B: Condyloid

(LD 6UITL_6meuor i el ()

C: Gliding

UWES WWL®
D: Saddle

GFeuor Ll (h

135 135 After fertilization which part of the flower turns to seed coat ?
& ([H6Y S G L6 el eThg L LGS ellemngLenmme 2 [HeuUmELD ?

A': integument
&0

B: Ovule
&6V

C: Ovary
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GevenLl
D: Seed
alleng

Find the odd one out :

seollweT (AUTGHSTS) RETOD TH S TLDSIS -

A: Cholera
EE
B: Pneumonia
BIGWmeolwim
C: Tetanus
QL LLITeoT6M
D : Small pox
FetTeoTLDEMLO
Find the odd one :
S6UMITET RETENM 260 L_LIT6IT

A : Ribs and breast bone joint

LD &IT600TS

alleum TN HGD LTTLS eTaDLHEGLD e ulley 2 aTer eoL B

B: Ball and socket joint

L6 &l G evorevor ool ()
C: Hinge joint

&6 el (h
D: Pivot joint

(PEmeT &S LB
Match the following :

(a) Brackish water (i)
(b) Fresh water ]

More than 3% of salt
3% of salt

GET IT ON

Google Play

)
(c) Seawater fii) More than 5% of salt
(d) ©Oceanwater liv) 0.05to 1% salt

QUMHESHIS :

{a) Qgrsdlsiv B i) 3% &5 2FlEwmer 2 L
(b)  mebrenfiy (i) 3% 20y

[c) &Leb BT (i) 5% ySlEmeT 2 UL |&E6T
d] GummsLsy By (iv] 0.05 wpsev 1% susmiy = LiL|

A (@)-(id), (b)-(ii), ()-(iv), (d)-(i)
(a)-(ii), (b)-(iii), (¢)-(iv), (d)-(D)
B (@)-(id), (b)-(iv). (©)-(0). (d)-(iii)
(@)-(id), (b)-(iv), (¢)-(1), (d)-(iii)
C: (@)-(D), (b)-(iD), (0)-(iid), (d)-(iv)
(@)-(3), (b)-(i0), (¢)-(iid), (d)-(iv)
D (@-(iv), (b)~(id), (¢)-(0), (d)-(iii)
(@)-(iv), (b)-(iD), (¢)-(1), (d)-(iii)

139 139
Match the cormrect pairs.

(a) Ca|OH]: (i) Calcium Oxide
b) CalHCO:) (ii) Calcium Carbonate
c) CaCOs (i) Calcium Bicarbonate

(d) Ca® (iv)  Calcium Hydroxide

FrilwmaT silem_anil QUTHESISE

{a)  Cal[OH): i) SMeFWLD Sydamearo(h

(b)  Ca[HCOs) (i) STV HITFLGeTL

[c) CaCOs {il)  smEEFWLID enUST TG
[dl  Cad fiv)  STELEILULD emaml Frd&eanarh

A (@), (b)~(id), (0)-(iii), (d)-(i)
(@)-(iv), (b)-(iD), (©)-(iii), (d)-(i)
B (@)-(id), (b)-(ii), (c)-(1), (d)-(iv)
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(a)~(ii), (b)-(iii), (0)-(1), (d)-(iv)
C: (a)-(iii), (b)~(i), (0)-(ii), (d)-(iv)
(a)-~(iii), (b)-(1), (c)~(ii), (d)-(iv)
D: (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
(a)~(iv), (b)-(iid), (¢)-(ii), (d)-(i)
140 140 The diabetic patient who excreated excessive glucose in urine is called :
Brdley Grrullermsy LUTH&SLIUL L emeuT PmiBile 258 2676] &EHCaHTamen GealeflGWmmILD Bl&LDe) :

A : Polyphagia
umedGuglwim
B: Glycosuria

&ev6masGas Mm@ flwm
C: Hyperglycemia
anamliLy HenerEullwim
D: Polyuria
umedlug,flwm
141 141 There are galaxies in the observable universe.
@B LIMTE 88510 3|600TL_&H 6V &My 6 6uoT LS6DT B\ JETSHET 2_6iT6rTenT.
A 1010
1010
B: ol!
10!
C: 102
10°
D: jo3
1013

142142 Find the one which is not the common use of Nitrogen and Carbon-di-oxide :
MBL_TERET LOMMILD &MY LIGT-60) L2, 8606101607 LILetTa6rfleb @6V 6781 @)evemev ?

A : Used as fertilizer
o ghigser swmiliile Lweru@G &S ms!
B: Used as refrigerant
&erflepL1q Wims L1 LweTLR&H mSI
C: Used as explosive
Qeulg L1 QUTEBL G660 LWeTLGSSILGS S
D: Used as preservative
UsLILMSS LWaTUOSSLILGH DS
143143 Movement of wind takes place in Troposphere layer. But clouds are formed in which sphere ?

319.6u6rf] LD6TOTL 6V GHH 6 (Troposphere) T HTHMET G WIS HLD HEOLCLMIGHMSI. 21,6076V 6THS eUerflLoeuorLev 3i(H &G ev
GLO& MBI 6T 2_ (16U TH 60T 60T ?

A Stratosphere
2(h & euerflLoeuorLeuld (Stratosphere)
B: Ionosphere
9|Wweof LDesoTL6uLh (Ionosphere)
C: Troposphere
2j19.6u6rfl LD6EVOTL6VLD (Troposphere)
D: Exosphere

Limeuerf] LneooTL_6uLh (Exosphere)

144 144 Assertion (A) : Nitrogen is used for filling the space above mercury in high temperature thermometer.
Reason (R) : Reduce the evaporation of mercury.

Ml : QauliLBleneulnmef1sefley LUMGIEsH Mm@ CLaeTeT QeumnilL&eng BTl enbLFe3e6r LWeTUGSHMmS.
SITFEOOTD : LIMSTEFLD QelWM&Tne SO &ESLILGSR S

A (A)is wrong
G DY H6UI
B: (R)is correct

SITyeuorid &ifl
C: Both (A) and (R) are correct
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FaMHMI LOMHMILD &TTevord G Teor(hid &Fifl
D: Both (A) and (R) are wrong
FaHOI LOMHMILD STF6oTLD ) FetoT(HILD & 6u M)
145145 Which one of the following is completely correct regarding Renewable energy resources ?
UsILNG5 55868 a6k &G6T Q& MLFLTeT LNeTalBL 61éhdnmml (wWeusiD &ifl 2

A: They can be renewed over a short period of time. Ex. Petroleum
GORW HTLEHH SIS S8 Q&T6Tes Fnlq gl 2 STeorid : QUL Grmedlwih
B: These are available in limited amount in nature. Ex.Solar energy
@emel @uimensuiley I&& GeMmBS 26TC &ML &SR GTMEIT. 2_FMI6oorid : @I S,MHmev.
C: These are inexpensive and can be harvested continuously. Ex. Wave energy
@Qemnel &S GOMBS QFel6) ILMMENe QST FFFRWMS QLIMILD ELNEUMHISHETTEGLD. 2 SITF6uTLD : &THM SbLMHMmeV.
D : The conventional energy resources account for 90% of the world's production of commercial energy.
2 608 ILMHME CHEm6euUsETI6L 90% LOTLFTT SLMHMEV ELHEVMHISET eLneuld QUDLILIGSMSI.
146 /146 Which one of the following is compostable and bioactive thermoplastic ?
B0 QHTHSHSLILLLeUDMIET 2 FOMEGLD S6Tenld Q& meoorL 2 UFLIL S medr Q& metrL QeuliLSSTe) @6T@&Lh QB&IL :

A: Polyethylene Terephthalate
umed e1& & eNetr QLIS TeLELOL
B: Polyvinyl Chloride
umed eflemeorev & Germem iy
C: Poly Lactic Acid
umedl euITs19.8 Siflevln
D: Polystyrene
Limed) 6hved) L ifedr
147 147 The common element present in all the acid is :
9|8l 6urhIG 66V @) (5858 8n L.l QILIMSI6U 60T &6vfllolh :

A: Carbon
&5 1T LG0T
B: Oxygen
21,860l 60T
C: Hydrogen
AL [T 60T
D: Nitrogen
BT e60T

148 148 Ampere is the SI unit of :
S DLNWITT 6T6TLIS @S FIaICHFS HL L S0 G0 :

A Voltage
18l edTeoT (D & B LD
B: Resistance
1S eTE L
C: Intensity
ST GeuTTL L LD
D: Charge
SesTer Lib
149 1149 Find the odd one.

QUITBHS TS 6iTenm CHI6] QFUIS :

A : Newton-metre

Blw, L L6or LS LiJ

B: Joule
o)

C: Kgm?s?
®.89).152 el 2

D: gm!s2
&.6.15" a2

150 150] 1 atm =
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1 atm =

A: 1.013 pascal
1.013 LIM6V &6V
B: 1.013 bar

1.013 umy
C: 1.013 x 10° pascal

1.013 x 10° LIMeru 8560
D: 1.013 Newton

1.013 Bluy,L 6T
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